Yealink

Quick Start Guide

Yealink VC500 Full HD Video
Conferencing Endpoint

‘9 GuGLOSAL



a GUGLOSAL

Package Contents (m71x| M=)

0 = ¥

Rl
Velcrox2
VC500 Codec VERLY i ) ) :
Remote Control AAA Batteriesx2 Acrylic board Power Adapter (One Velcro is on the bracket)
= .
=y .
L ! m Q ? —
= 18m
Mounting Bracket Camera Lens 3m HDMI Cable VCS00
and Accessories VESA Accessory Privacy cover Cable Tiex5 Ethernet Cable (for the display device) Quick Start Guide
l'l
OS5-CS g
Wik —
12m
VCHSQ Video HDMI Cable 12m 7.5m 05m
Conferencing Hub (for content sharing) Mini-DP Cable Ethernet Cable Ethernet Cable
Wired Sharing Package
O —T3 O
WPP20
Wi-Fi USB Dongle WF50  WF50User Guide WPP20 Wireless Presentation Pod

Quick Start Guide

Wireless Sharing Package
Optional Accessories

: CPWI0 Wireless DD10
CTP20 VCM34 Micx2 USB Dongle
A Package B Package

Bluetooth Wireless 8T42
Microphonesx2 Bluetooth USB Dongle
C Package

= SQUEIX] 2 EtAF AMIME] AL Al, §S0] Kot 4= UALEZ YealinkOfl A ®MS5HAL S2let AAM|A 2|
Args EEEUL

= V(500 HE ZRIEE {/FM IH7|X| H23H0| 25 SlH HSE HH= SR7t 7Hs UL

= VC500 A= ZRIEE= A, B, CIH7|X|= A 7d5t0 RS = UF L.

* YealinkOlM XMSots M&H HHEE AHE6H0{ 4 OH0|2E STOHIAIL.

= MX}7| ZH4E YKok | #lsh HDMI A0S0 At && =5 UL

=
—
=

E
E



a GUGLOSAL

Endpoint Installation (i=zelE M%)

X AMOIE) & & Q7 ArEol| [t of2 X W S SHtE MESHYAIL.

i

- HET ZEH ZX| - HE ZX| « TVAREE

—

« TV 2o ZX| « T 2X|

|2 H|O|S0 31 BAZE 58 HA| E=5 oFH AARO| 35S 4~ UL

<
(@)
(Ol
(@)
[}
mjo
o

|0

- TV o dx|

=

)
L)
— i
Pay attention to the direction of the bracket '
») E2t319] ratof FOISHIAIR. /Q> 0.
\ LdL g
Steps : @ Z&Egt 2[X|0f E2t2S 0|2, @ TV Ho E2tzls S5 L.
© YAZ SHHE HAHSHIAIL. @TV T AI2E 20|10 E2p3lnt TV HHO| M2 HEHD|
TYEO] UK =HQUSHIAIL.
0
d °
) (=
= EaplE XNEE X0 EEROLE
> VC500= TV JHO| T2E == gl= 3R0=
) s H2ZE M3 ChE Yok AL,
AHM[EE LHE2 ot LHE EIoHMIR.




a GUGLOSAL

| I

Pay attention to the direction of the bracket v

)) B2t219| a0 FOISHYAIL.

’ ° ® l#h#‘

Steps : @ VC500 E=tiS Mef Het2ls HEeh JX2 gUM @ TV JHO| B2l ssUH.

@ B2l 23=E E0|HAL. ® TV Tl 4325 20|10 HaZl TV 0|
Q HAZ SHIE MA SHUAI2. MEZ HEHS| TFE 0 A=K 2IEHIAIL.

= BapEE XEE X0 2RO = V(5000 BO{E = AB=
VC500S TV & HO| 2 5= gl= dR0= =Xt HAE HelZlE H S2X| OHAL.
CHE AX| YyS MEGHOF LT,

- B{Ho 2%

SO ZX| Al, #E =0l= 1.55~1.85m UL}

» 7% 0] : 30mm
» 7+ AF 6mm



a GUGLOSAL

Steps : @D Ho| +HS HUAIL.

@ T4 x 30 LIAFE AKZSH HEf2lg DEoHAL.
Q EZtZl EsE M2t V(5008 HECZ T|HAIR,
@ M3 x 8 LIAIZ AF2810] V(5002 B30 THEHMAIL.

) LEAR AFY M3 x8

- MO Ax|
X

M| AX| ot 0= HatAS B2 FOHeHOF BfLICH E2t2l 710 Al, Otz AtetS FASHMIL.

v Z|A10.5kg(23.151b)e FAHIE XIE = A0 FHl= 2mm(0.0821X[)2F 3mm(0.1221X]) ALO]0{O0F EHLICH.
v E2Bl0l= VESA HAMAE] HO e = U= 71S0] HAIE O USLCH

v B2t LA 71§ AL0I2] AH2|= 14mm(0.5Q1%) 040 LCH.

iy

» LAY » XY

b

6.0mm(0.2421%]) 0| Z4 5.0mm(0.20Q1X])



a GUGLOSAL

) LEAF AR M3 x 8

> LIAL AR
1/4%-20 UNC

Steps : M VC500 ES M2 VESA UMM E O[HAIL,

@ M3 x 8 LIAE AFE5H0] VESA HAMIM2Z|E A0 DHEHAIL,
Q@ ™ FHO| /X 7|52 HEE U= 1/4"-20 UNC LIALS AMZSHH E2F3IS VESA UMMt -SHIAIL.

« TVAHE E= 2200 EX]

TV ABHEL} AZHTHS S 2 T04GHOF BHLICH TV ABKE i
MR|SHs W QTARS0| ZELCH MX| T Et MY M|

| TV Stand

2> LEAL AR
1/4%-20 UNC <




Remote Control and Cable Ties Installation (&2 mjof « #0|E Eto] Mx|)

-k
1

Connections (¢2)
ATHZ|X| 2 Al, Of2HZ ZT5HMIL.

18m
HDMI Cable
Display x2

3m
Ethernet Cable

Power Adapter

nnnnnnnn

VCM34

1571 HQoHK| 222 B0 AF8Xt= A|AR2 VC HE /st
Z

GUGLOSAL



a GUGLOSAL

BLE C TH7|X| =& Al, OF2HE & 116HM|L.

Displayx=2

1.8m
HDMI Cable

3m
Power Adapter Ethernet Cable

O

Internet

Lm;

a) CPW90 24 0}0|52} VC500 AE ZOIEE BHUIM XHSO2 Hofz BLICE CPWI0 £ 10|32 A83H2{B DD10
USB 522 ASHOIE| USB ZE 5 L0 25 TS CPW90 2M D0|2= OC|Q 2] MAZ X=a 4+ ULt

b) CPW90-BT E2EA S jo| 32} AIC mOIEL ZHOIA SO HotE ELIC, CPWI0-BT E2EX 24 D0|=S
ArE5tH M BT42 ER5FA USB 322 USB ZE & 5tLt0| HASHIA|L. CPWI0-BT 285A 24 010|3= QL2 U
7|2 A5 e+ ASLIC,

= AIABIS Yealink HE M O{HEI(48V/0.7A)0Bt ALREHOF BILICH EA M9 O{HEIS AFIEH

AIAEI0] 2418 4 ULICH, AOIE0| THAE H H0[2 SH0) mHIsHOF BHLIC

Wired Sharing (84 29)

VCH50
] N = —a —
MINI DP -
1.2m 1.2m
Mini-DP Cable| or HDMI Cable K,
°
=)
=
o
PC =
| |

VC Hub/Phone port
on VC500 codec



a GuGLoaAL

Wireless Sharing (24 2%)

WEF50 Wi-Fi USB Dongle

WPP20
PC Wireless Presentation Pod (Q
=13 )

= WPP200]| CHgt XtMIgt HEE #SHICHH, Yealink WPP20 Quick Start GuideE &115HMIL.

Network Environment (WEY3 &2)

Bandwidth Requirements (9= 27 Argh

H|C|2 i = H38 9=

Full HD 1080P 1.3 Mb
People 1080P + Content 1080P 2.6 Mb

= Downlink CHEE1} Uplink G =2 ¢ 2FAEE 25 S50k L
= 2OIM gt G =2 S S35 7|22 2 SiLICE 2AS| =2 HAZAE X|AL AFRA0] Z7HE0) et

Z7}|0{0F BHLICH,
Network Deployment (WIE3 Al2)
LQO M2} 22t2C HYE = MEXO| YL HIAIS MEHSIAA|Q.

. ZeCHE
SoURE HZ0l= =Tet HEXT 27F0| HQ0HX| E5LICH AAR 2| XHoA 2 AE HEE 2ot 2ty 2[9]

=

EE0 2321 IR,

[lI

A HOE Sall 3+ 3|2 SHE0 2a25HHH L2 S AIL.
More ) Setting ) Advanced(Z2|X} HIZE#S : 0000) ) Video Conference Platform(stds|Q| E2HE) MEH
SURE AY HEOAM A8 7HSSH MTHIAE MEY
EHE 2 E-LI2 20N 2ot= EHES MH

2I5t= ZeiE S 1AMGIT 27791 Ry

:'-\.W!\’.—‘FIIE

. MEH WZ

IERAZ0IM AlA

20 A AHS HZEHs B 28 E
le Z9 RISS B2 AS5H0] AlAH

K|Z0]| AARIS HHES N = |
Head Office (2A}
2 A0l AIAHIS HESHS 29 XAIS $Z5I{P FOI SiLt 01449 ARl 1P 47} BRELICH
AAEE HIX|SHH S L2 & °|'L-|'E SN

Option1. AIAE0 1F S& IP F4A5 SHOIHAIL.
=z

Option2. Y=t F0f| A= AUENN| A|ARS BY AF W IP FAS sl YeHHOM ZE 1S sHUAL.



¢) cveoma

Configure a Static IP (2 IP 4)
Ciee 2|REg ARSl0l TN IPvs TAS TAGH: WAL,

More ) Setting » Advanced(Z&2|Xt H{ZHS : 0000) ) Wired Network(SM HEXT) MEY
IP 2E E-LI2 SEO0IM [Pv4 ME

IPv4E MEiSHCHZ OK 7|1 € 28

DHCP 2oI2to] M3 EAIS F4&

SHE ZEOf IPFEA, MEU OAT HO|E 90| 2 DNS HEE 1

HAAEE NE ) C|AE20] HX[0| ‘Reboot now? 7} FA|

2012 MEISIO] AlAR KEE

NowmkARWwN =

Configure Port Mapping (ZE. 11 24)

OIERIHI0) AIAHS HIESHS Z ABXIS| AIAHO| T7H HSH2 WS 4 AUEE AAHOIN TS ZES Waiso| 28

HELZZ ME3HOF SLIC
s O2ES EY

H.323 signal Port 1719-1720 UDP/TCP
Audio & Video Media Stream port 50000-51000 TCP/UDP

Web management port (optional) 443 TCP
SIP (optional) 5060-5061 TCP/UDP

Branch Office (X|AD

KA A ARIS BiZSh= B2 TS & SHUHE +ot0] HESHIAIL.

Option1. AR} St HAO| M2 A|ARS BZSHIAIL, O] YA QIHIRE 3 OtRHIZE S3tE 2F 0|8 + AL

Option2. X|5& ©3|E M85 A|AHS HIESHYAIR. AARIO] 7HQI IP F=ADE SESHH ELICE O] 742l IP A= S8
HEF0 HMA e 5= UASLLE O] Y2 2Z] OrRHI2E M7 0|88 4 AF LI

= XSY =22 AME0I0 AIA-S BiZE T XSte|of A2 LetHA TS ZES E0{0F LT

N
oIr
i
Hu
Hm
[T
m
o

H.323 signal Port 1719-1720 UDP/TCP
Audio & Video Media Stream port 50000-51000 TCP/UDP
SIP (optional) 5060-5061 TCP/UDP

EALEZACE XAME B2 E 4+ AT & H2| ZE(443 / TCP)E S8 HIERA=Z MEsh= A0 54T

Troubleshooting (2x i)

- QIZY HAE
MX| L H{E = Yealink Demo Room(117.28.251.50 FE= 117.28.234.45)2 M35 Z0| A|AHES HAE

o= UASLICH TEE 2 & Q= B2, IT HE XA 2[5t HEXZE 2RISHIAL.

ok



a GuGLoaAL

. S NAT 74

SURE SUES AHE0HA| §1 AECII0| A AR S i oh= HL, Yot E= A 0| EO0|0M ZE 1S
TEOLL 24 A|ARIO| Z2M 3tHO = LIEHLEY Yealink Demo = CHE A|ARES SEE M A2[7t S|

o2 4 AU,
0| ZLIH MBI 019 ASXH E10] Wais Ei HOIEY017} ALG 7158 KIRGH 87| B2 LT,
ol m, AIARO| H NAT 7150 O] 2XE 2% 4 UL,

S|22S Sl X NATE g6 H

More ) Setting ) Advanced(Z2|Xt H{ZHS : 0000) » NAT/Firewall (NAT/&ate) MEH
Type(R)2 E-LI2 SE0M AtSS MESHH A|ARIO| X(ISCE S8 IP FAE HS
AARIO| B& IP FAE AHS2 2 AX| R5HH Type(R) Z-Lh2 SF0|M Manual Settings(+=& &3)E M5

[ |
T8IP 74 UEQ| B P FAR P& 5 HZ ARS XY

Bl



